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W E BB R [

LR LRJL2 LARLS LRL4 LRILS By | #HE fis =
IERS IiE 7 H07 bk
T B m 127.7 9540 + 32.30
EE LI (FEHD m 123.3 9180 + 3148 TREE
<E1%200-150mm>
ERLT
EERIEHI
AR A BH0.28m° m® 127 127.4
BTy EMRAEE) (RIB~RES)  L=1.0kmKN m’ 127 127.4
EHRER
A UL—2X) m?® 80 79.6
BTy EMRAHE) RBIB~1H15)  L=1.0kmKN m’ 80 79.6
mATIERT BH0.28m° m® 80 79.6
4L
A UL—2X) m® 39 38.8
FLT 59 0E Wk (10t58) (R B 15 ~ 5315 DT10t,BHO.8 M &34, L=6.2km m® 39 38.8 [;iﬂhl —
PANTR Bigh X REZIT4tITX
r——— AL m3 391 388 BEEBHDELMEEL095R
BWEEEEZLESRET
BEECE-LEREIGIH ¢ 200 m 123 123.28
AFLAA ESH#F ¢ 200 =130 6 6.00
RYIFLUEMBRT
[ BEIGYIFL E@ERES)AR) ¢ 150 m 33 32.8
RAA R (SR EER) A . ¢ 150mm m 0.4
BF TG YIFL EEERES)MR) ¢ 150mm 2O #F/ EiFT R 10
BF TG YIFL BRI RS MR ¢ 150mm ,1 O #F/ EiFT BT 3
T 790 BFEHHERR) JWWA 7.5K , ¢ 150mm m] 3
RUIFLUEYIBT $ 150 m] 5
XHEEERET {& R 12
L avy)—hHEIFL ¢ 150 (=170 1
RYTFL B
([ B2HESE EF2O 150 X 5m P 2
REEMNEE 150 X 5m PN 5
BiE EFZ0O 150 X 90° & 1
REB(TEHE 150 x 90° & 1
150 x 45° & 2
150%x22 1/2° & 1
| REEHHS— EFZO 150 A 10
REEMDISVOEE EFZO 150 & 2
=Z2ISUUTFE Hia 150 X 150 & 1
IoUTE 150 X 7.5K 54 1
IoUTHEM 150 X 7.5K #H 3
TUR—IILEF 150 & 2
XHEEE 150 fio: 12




W E BB R [

LR LRJL2 LARLS LRL4 LRILS By 2 fis =
IEXHD IiE 7 H07 R
EERT
RO ERE
MEBET e m’ 33 32.8
ERLIET
BEHEiRTE
BREMEAIREAT H=2.0m,1E% BH0.28m° m 61 60.6
HEMEREIKRT H=2.0m,1E% BH0.28m° m 61
B2MEREH BEMEFE. HARKIA t 7
ITBXRIEBEELEXRI) H=2.0m,1E% m 61 60.6
fEELEH H=2.0m,1E% = 1
UEEH H=2.0m,1E% = 1
< ik—)LT
A< R—ILT
15#I v R—IL
v R—IL 15 ,3mL T (=170 1 1
wik-ILEkE @ 600fH T-14 FEfHIE HhERE #H 1 1
EIVEEILZIL 25kg £ 1 1
HEYY 600 X 100 & 1 1
HIK1EAT (I #8)#4E£7°ny4 H=300 & 1 1
HIK1EAT (I #®)8F{A7°Ay) H=1200 & 1 1
HIK1BAT (I%B)EkR7 Ay) H=130 & 1 1
EET I K1 FIUF-IL (=170 1 1
BIFLE(E1-LE) 15 AF. ¢ 200 eail 2 2 814.815MFA
05 #AsIv hR—IL
I R—IL 05 2mlLTF (=170 1 1
AFLEEE ¢ 600fH T-14 FEfHIE hERE #H 1 1
EIVEEILZIL 25kg £ 1 1
HEYY H=150 & 1 1
HIIRK0EATL (I F8)#4EE7°0yY H=450 & 1 1
fHII KB AT (I #®)8F{A7°Ay) H=900 & 1 1
HII KB AT (If®)EkR7 Ay) H=130 & 1 1
EET tHII OB IUH-I (=170 1 1
BIFLE(E1-LE) 08 A¥l. ¢200FA TR 1
INBIRYR-IL T
N TR—)L
NI UR—)LT (SEESE)H T4 ERARU B 2mIATF (50308 3 3
ShEk R LEE ¢ 300 T-14 & 3 3




wWE BB R [

LAJLA LRJL2 LAJL3 LAJL4 LAJLS =L iva = fis
IERHD It 15l #Al bSkic)
BAEHLUEKHT
BAERELT
BRFELT
AR H BHO.13m° m’ 3 2.5
B TSy EMR(tE) (RIB~RES)  L=1.0kmLKN m?® 3 25
REERT
A UL—2X) m® 2 15
BTy EMRtE) RBIB~H1E)  L=1.0kmKN m?® 2 1.5
mALEET BH0.13m° m?® 2 15
MERET BH0.13m° m?® 1 0.7
FEETNHT
A UL—2X) m?® 1 0.9
TSy &M (10t38) (R E 5 ~ L5115 DT10t,BHO.8 mF&3A, L=6.2km m’ 1 0.9
IAERELT
A ERZRUZERMS T (I H) $150 1=1.38m &6 4 4
IURFryT ¢ 150 & 4 4
eI
HEMBET
HEER I T T
R L FAI7ILE 15cmET m 216
S R B
S R B BHIZ& B EHEIRHI 7ZXI7ILE t=10cmEL R m? 102
av ) —hEEYERIEL
HiEYEREYThHL Sk, K& m 10 H&Ei1&Y
SRE
A bR U B S R AE i L=73.8km = 1 0.023%0.04*(215.5+241.0)=0.395m
a5y w4 Hya—iEiR t 0.6 1.4%0.395=0.55t
SR As L=5.5km m® 4
PR B4As-9 m?® 4
OB Con L=5.5km m?® 10
PR B4As-9 m?® 10
HET
PRizT
t ERRAE(EE - IRE ) RM-30 t=11cm m? 102
REL
KREEE- BEL) RIEIE BAEFHEAs t=3cm m? 102




#ERE R WY

L)L LRL2 LALS LR)L4 LARILS BT = fis
IERXS IiE 27 it Bl pSATA
=z
ZeE
RBFER RBFEERFESB A 38
REET
BI5T
Bi5FT HERG m 34
HE xR
HE xR
EiRE
REEM B E t 7
A A BUENL B (R EEHM &) t 7
RiTEEE
HEIRAEE m 123
WMEEERT m 123




&=& $200 E M M M R X e
X A & BEEIEEE=ILE ¢200
& % A i3] < 123
% fl B b4 i3
& & 4 =S 3 [ & AESHF
= =1 =1
L L” L-L” SRA PE
(FH%) 4.00m 4.00m
(EFR) (m) (m) (m) (&) (m)
No.810-2-5 0.37
1 810-2 No.810-2-7 48.70 0.45 47.88 11 3.88 1
No.810-2-7 0.45
2 810-2 No.810-2 7.70 0.45 6.80 1 2.80 1
No.817-2 0.45
3 816 No.816-1 5.00 0.29 4.26 1 0.26 1
No.816-1 0.20
4 816 No.816-2 21.00 0.29 2051 5 0.51
No.816-2 0.20
5 816 No.816-3 13.00 0.45 12.35 3 0.35 1
6
7
8
9
10
11
12
13
14
15
& F 95.40 3.60 91.80 21 7.80 4




ERE ¢150 g M M M E X e

X A & TKERARIIFLUE ¢150
% A fal fl &
% fl B b4 i3
& & 4 =S 3 B & B E ISUVE AESHF
= =1 =1
L L” L-L” REBHEES REERMUE H3290° REEMO gmmce /2 REBMIS | I500TFE rumyosoms
(Fik 5.00m 1.40m 1.30m 0.57m 0.77m 0.38m 0.28m
(B3R (m) (m) (m) (K) (m) (f&) [CEN (f&) (f&) (f&) ({80
No.824-1-6 0.45
810-2 No.810-2-1 4.40 3.95 3.25 1 1
No.810-2-1
810-2 No.810-2-2 5.10 5.10 417 1
No.810-2-2
810-2 No.810-2-3 12.00 12.00 2 0.40 1 1 1
No.810-2-3
810-2 No.810-2-4 6.60 6.60 1 0.83 1
No.810-2-4
810-2 No.810-2-5 4.20 0.37 3.83 3.44 1 1
10
11
12
13
14
15
= 32.30 0.82 31.48 3 12.09 1 1 1 2 1




= = :
B ¢200 sMEg2e AR BE X T B E B & X ¢ 200 EWiE= 0.0366 e
® 150 ® 165 ¢ 150 EBfE=_0.0214
& B A = X I 12 12 OogER| X B " HHEL % i
fi =) il 1% Hil Hil b3 + B iz « §
& & iitE = g E i HIREE El E ANB | RwhkRy | AY - o T
= =1 =1 7%= B Al aun w
P 0.2+ |LE&IE
NE | BRE (ExW
(TIEER) BERRR Z1 ASWX A=W X (H-E-%5%%)| —EHiE) A-(REL =
No. L L’ W H H E z1 72" |(H-Z1)XL|(H-Z1)xL XxWXL x L /0.9)
(mm) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m®) (m®) (m%)
824-1-6 1.02 1.28 (0.88) EF i
1 810-2 | 810-2-1 200  4.40 3.95 0.80 1.04 116 | 0416 0.04 0.10 45 2.5 1.2 1.7 0.28
810-2-1 FEH
2 810-2 | 810-2-2 @150  5.10 5.10
810-2-2 =i
3 810-2 | 810-2-3 @150  12.00 12.00
810-2-3 =i
4 810-2 | 810-2-4 @150  5.30 6.60
810-2-4 1.75 gs
5 810-2 | 810-2-5 200  4.20 3.83 0.90 1.58 167 | 0416 0.04 0.10 6.2 4.2 1.3 15 0.28
810-2-5 1.58 gs
6 810-2 | 810-2-7 200 48.70 47.88 0.90 1.45 152 | 0416 0.04 0.10 64.9 42.3 16.2 17.9 0.28
810-2-7 1.45 #gs
7 810-2 810-2 | ¢200  7.70 6.80 0.90 1.74 160 | 0416 0.04 0.10 10.8 7.2 2.4 28 0.28
817-2 1.04 1.21 (0.88) EiT]
8 816 816-1 | ¢200  5.00 4.26 0.80 1.24 123 | 0416 0.04 0.10 55 3.2 1.4 1.9 0.28
816-1 1.01 1.24 (0.88) EiT]
9 816 816-2 | $200 21.00 20.51 0.80 0.94 1.09 | 0416 0.04 0.10 20.0 10.6 6.4 8.2 0.28
816-2 1.06 0.94 (0.88) EiT]
10 816 816-3 | ¢200 13.00 12.35 0.80 1.69 132 | 0416 0.04 0.10 15.5 9.6 3.9 48 0.28
11
12
13
14
15
& § 126.40 123.28 127.4 79.6 32.8 38.8




+ B I % # = .
g8 W X R
BHRES BRRER Twomsz TBEE F O |H=200m H=250m H=250m H=300m H=350m H=400m H=400m % =
XRIE  XRIIE | XRIE  XRIEE XRIEE ZRIEE ZRIEE

810-2 4.40 116 %iE 4.40

810-2 5.10 o

810-2 12.00 o

810-2 5.30 o

810-2 4.20 167 BE 4.20

810-2 48.70 152 B8 48.70

810-2 7.70 160 BE 7.70

816 5.00 123 %iE 5.00

816 21.00 109 %iE 21.00

816 13.00 132 %R 13.00
NF 126.40 43.40 60.60




HEKEHFAHF T (PEG150)

No.
v PR TR ~HE BN " =Y B
BEHS TF%
NS AR = R ¢ 150 m 33.19 - 0.38 32.81
7T USRS T
BB ANVEARRT ¢ 150 m 0. 38 0. 38
BEHES 20 BT —
) FV B HRTE T ¢ 150 51 AT 10 10
BAEES 10 B Hh
I $ 150 (=B 2 + 1 3
75 HEET ¢ 150 =] 3
N ESA2% = ae )l ¢ 150 (50 3 + 2 5
B4 BatiE L ¢ 150 (=B 12
=7 U — MHIFL ¢ 150 T BT 1




H oK E M B4 £ (PE¢150) No.
X 1 51 H5 R DR
4 R TEAR~HE HAL| B T - BRI wat TR EF#E =
I 1 7 54 Y PE-150 | 1m0 | 21 | rp=p| 75097
EF% 1 wEEE) | 7.04
A% EE 6 150X 5, 000 A | 5.00 2 2 7.04 2
WEIER) | 5. 40
RS ¢ 1505, 000 A | 5.00 3 2 5 20. 40
EFs2 1
e ¢ 150 X 90° M | 1.40 1 1 1. 40 1
(R = T ¢ 150 X90° 8 | 1.30 1 1 1.30
(R = T ¢ 150X 45° | 0.77 2 2 1.54
(R E A $ 150X 22 1/2° f@ | o0.57 1 1 0.57
EFs2 1
R 7 — $ 150 1 10 10 10
PR
75V ¢ 150 1 | 0.28 2 2 0. 56 2
=TT LY 75 V%N
T5% 6 150 f@ | 0.38 1 1 0. 38 1
75U ¢ 150 1 1 1
75 VA M ¢ 150 18 3 3
< VR — VR ¢ 150 1 2 2
R4 A ¢ 150 Hi 12 12
i 33.19 3 10 3




PE ¢ 150 BIEFHE

oo & o E B B | YN
W . . 2 | || o |
e R EOs|EE BIR E 2N B OSEES Bk E 1H8) B
\V4
D 3. 44 3. 44 1.56 1
3.44  7%1.56
Y. ® 3.60 3. 60 1. 40 1
3.60  F%1.40
7.04
B PE¢ 150 N L = 5,000 7.04 2.96 2




RiEEFT PE¢ 150 HIEFHE

oo & ot B B | YN
W . . 2 | || o |
e B B &S B E &S BR E O XES EBRK E & 1H8) =
\
©) 4,17 4,17 0.83 1
7%£0.83  4.17
\V4
M ® 0.83] ® 0. 40 1.23 3.77 2
#3.77  0.83  0.40
[B% PE ¢ 150 N L = 5,000 5. 40 4. 60 3




15T XY R LBEHEE _ Gl
% =, | A Pinlaei=1 mA & g B & EE E avoy— & # RARFEEN S =
#® =27 f& E| &7 |BE| B Bks | & | B & = (cm) - & &
& x BES & 2 (Elg|® 5| g £ & BB B ) (%) =
= | (No)| (m) | #& (m) FE |(mm)  (m) (m) | (9 (mm) (mm) 60] 90[120[150[ 180 30] 60] 90]120[150[180] 30] 45] 60] 15] 5] 10] 15| 105] 12.5] 21.0[25.0] #
No.815.814
200] VU | 200 39.440] 0.361 VU200A%7 A
816 | 816-3] 1.581] vu | 39.079] vU | 200 39.099] 0.020 31 T L L il || | 1] L1 1] 1| T-14
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
[ |11 [ [ | 1 [ | | 1 |
1 BRI N= 1 BT BElES| 150 100
2 7OvE[HI HS30 1 &/ 200 150
30<H=40 i & &t| 250 200 | | 1] | | | | | | 1| | | | 1] | | 4 1| 3




OB T h— LB EE e

Blgs| A Lawe [ & A&  |y[BE]|8|g S LU — B H W, | &

i =3 .?L El g |E|E| gES P2 f 5 % (cm) . B =

& & EER it = [Elg|® & | (& E _E BB HEYY (%) 52

= | (No)| (m) | #& (m) FE |(mm)  (m) (m) | (9 (mm) (mm) 60] 90[120[150[ 180 30] 60] 90]120[150[180] 30] 45] 60] 15] 5] 10] 15| 105] 12.5] 21.0[25.0] #

150

810-2 |s10-2-5] 1.474] PE | 16.978] VU | 200] 17.060| 0.082 1 24f 1] |l || L L [ 1] [ T 1| T-14
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
I I [ | 1 [ | [ 1 |
[ |11 [ [ | 1 [ | | 1 |

1 BRI N= 1 BT BElES| 150 100
2 IOvE[HI HS20 1 &/ 200 1| 150
20<H=3.0 {1z & &/ 250 200 il | ] ] [ | | | | | 1] | | ]« 4] | | 1| 4




1TEHIL~T>A"—ILESI 0B ITITXTUAR—ILEE I
% i &t g = HE|#H = % g1 H g = Bl % 2
REEFT 1 + AT 1 BT 1 + AT 1
1 LY 1 EFrLY
Y-+t V= w/4 % 0902 x(017+ 020 /2) WY+ V= w/4 x 0752 x(0.17+ 0175 /2)
- /4% 020%x 1/2 x 090 - /4% 01752 %x 1/2 x 075
m® | 0.16 ( 020 + 015 )/ 2 = 0175 m? | 010
t= 0.20m t= 0.20m
BREEBT (A= m/4x 1107 m? | 095 BAEEBT |A= m/4x  095° m? | 0.71
BT |A= 1 x 020 x 1/2 x 090 m? | 0.28 B BT |A= 1 x 0.175 x 1/2 x 0.75 m? | 0.21
ELALLEBYT|A= /4 x  0902- 020 x  0.90 ELALLEEYTI(A= mw/4x  075%- 0175 x 075
+ T X 020 x 090 2 +7T x 0175 x 075 /2
m? | 074 m? | 052




HE #REF! B

% < M 4 v N = k 1‘1 k-l S B;i
v %

# % T | ea wmMA BEa  EEA & 5 & J wr | = #

& v ),I.—/ KT ST 15~ DR MH 45Y 90Y MVR KDRS CVR T-25 T-14 T-8
§ o 90L

5 = m ir ir ir r T i i m i ir ir ir ir

810-2 No.810-2-7 1.422 1 1 1
816 No.816-1 1.127 1 1 1
816 No.816-2 0.827 1 1 1

& 3 3.376 3 3 3




VU 150 BRTEMBRVLIEFEESE B
& B A ZN | W i) 17EHY “ HEHINE |32 8 B BT E#F (¢ 150) 23 i
#® Ll & i i * HY AT = * &
& & i " & F®ORHE I fF #EAI ERL Kt p-35:3 i ® ;E
5 5 5 2l T EE 3 & BEE | aunh | 90FES wk-LE BE 60T | $rv7 & T =
m a om B | & WEE HE mesmE v gug-  h= &
3 = & L0 | AE®| SRB 4200 | ¢200 $200 GRFTHE | 0.365
Tig | $200 - 150 | -¢ 150 - 150 R/09)
No. K H L L1 LXK EHIE | WAL | Bt | BER *®E E-3
(m) [CORNGCORENGY) (m) (m) (m) (7 | (R) (&) (&) (&) (&) (&) (&) (m®) (m®) (m®) (m®) (m) (m) B
No.810-2-5 0.73 004 |HEEFS2.10
1 810-2|No8102-7, 045 R 3 | 100| 100 | 055 | 300 | 055 1 4 3 3 1.12 0.66 0.39 0.32 010 |7A=F4—A.B.C
No.816-2 073 004 |HEEHS3. 10
2 | 816  No816-3| 040 | R 1 | 100 250 | 210 | 250 | 055 1 4 1 1 1.42 0.84 0.49 0.40 0.10 |Ersmiy
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
B 4 265 | 550 2 8 4 4 254 1.50 0.88 0.72




E = ]
BT ER
HEE s HEE
@ @
L EtEHE B W B
1 ST
As 15cmZET 208.0 m 2155
2 SRR T
As 4cm 99.2 m? 101.9
Co 10cm m?
3 ERARYEAIT
A 10cm m®
m3
m3
/N
4 AstZET
EBLI(hE-HE) BAZHEAs t=4cm m?
REI(hE-HE) av9')—k t=10cm m?
5 BT
R T (ThiE - ) BHEYI9r—5Y RC-30 t=11cm 99.2 m? 101.9
MR T(ThiE-EE) BAEH794—7Y RC-30 t=20cm m?
6 REIET
EBLI(hE-HE) BAEBRHEAs t=3cm 99.2 m? 101.9
m2
7 BRI (REIR)
NYIR)EEEA] As t=3cm m?
8 SHED = DIFHI
NyH%H90.28m° m?
9 BIERNST — iRt m®
AsHS 4.1 m° 4.2
CoH35 m®
10 RE#HT SMANER w=15cm(B8) m
PR w=15cm(F) m
{ZIE#& w=30cm(H8) m
{Z IR w=45cm (B) m
1EE5E w=45cm(8) m
FUEFEN) w=15cm(E) m
XFERY-LY —Y) w=15cm(E) m
FEE (L) w=15cm(H) m
FEE(O) w=15cm(8) m




HEEBHEEXRERD wE
HEE D
- WET REIRT AT SHERUEL 1" el 5+ QLI
E B A =X B i 2z & &’ = ® D=axL E=b x L E=bxL EE &
% oM B A B @ DEHO #® i
& & il & B (B B | B @\ # 7| kBT REBI  REI = BE | @wi) B
= = = i 8 1=} =} BRET | BRERT  BREET XL %
wi B Bl | B2 | Cc1 | c2 | 1§ & | BHiAs | BHiAs | Co | BHiAs |menmns IARE YARE As Co As Co | AS3% | cozk | +®
L C1,62>1.2mMA F Lx2
C1,C2=0 a b t=4cm | t=10cm | t=3cm [ t=11cm | t=11cm | t=20cm t=4cm | t=10cm | t=3cm t=4cm | t=10cm =
(m) M) | m) [ m) (m (m) (m) | (m  (m) | (m) (m) (m) (m) (m) (m) (m) (m®) (m) (m) (m) | m) | m) [ mH | m®) | ()
824-1-6
1 | 810-2 |810-2-1| 440 | 5.15 | 1.02 1.02 45 45 45 8.8 0.2
810-2-1
2 | 810-2 |810-2-2| 5.10
810-2-2
3 | 810-2 |810-2-3| 12.00
810-2-3
4 | 810-2 |810-2-4 530
810-2-4
5 | 810-2 810-2-5 4.20 | 2.00 | 0.90 0.90 38 38 38 8.4 0.2
810-2-5
6 | 810-2 810-2-7 4870 | 2.00 | 0.90 0.90 438 438 438 97.4 1.8
810-2-7
7 | 810-2  810-2 7.70 | 2.00 | 0.90 0.90 6.9 6.9 6.9 15.4 0.3
817-2
8 816 | 816-1 500 | 3.10 | 1.04 1.04 5.2 5.2 5.2 10.0 0.2
816-1
9 816 | 816-2 | 21.00 | 3.10  1.01 1.01 21.2 21.2 21.2 420 0.8
816-2
10 | 816 | 816-3 1300 | 3.10 | 1.06 1.06 13.8 13.8 13.8 26.0 0.6
1
12
13
14
15
5 126.40 99.2 99.2 99.2 208.0 41




HEEBEHES@MAERD e
HEE
HET BT REIBT SHEEEUERL " Bl [EE R TE:]
= B® A i M F:N X By ) i #® B B 3 B’ D=axL E=bxL F=BxL| %% ]
#® kit it i B’ i -3 Al B i3 DF=HD -3
&5 = A & Al 1] & E=3 B (&) B | & & "’ 7 |REI RXEBI ABI| LB o | HEHI B
= = = E=3 = T [=] [=] BRAET BRI BRERT T ELY) %
Al -4 B Bl | B2 | Cl | C2 1] 18 | ZEHAs| BHAs| Co |HBRE YRARE YRARE|BLEH As Co F As Co | AS#% | CO®% | t#
L C1,C2>1.2mDEF
C1,62=0 a b t=4cm | t=10cm t=11cm| t=20cm| t=3cm t=4cm |t=10cm| t=3cm | L X2 t=4cm | t=10cm
t=3cm
(m) (m) (m) (B  (m) m M  m m | m | (m) (m) (m) (m) (m) (m) (m) (m) m | m® [ () (m) (m) (m) (m) m* | (m% | (m)
810-2-5
1 810-2 | 810-2-7 R 1.00 | 045 3 055 | 073 0.73 1.2 1.2 1.2 33 0.05
816-2
2 816 816-3 R 250 | 040 1 210 | 073 0.73 15 1.5 1.5 42 0.06
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
i 2.7 2.7 2.7 7.5 0.11




BB EMRET HEHES

% Eo -1 B O =
BEMRET

BESR{A)E 170 + 340 + 246 m 7.56
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